
ALUMINA

ASSEMBLY INSTRUCTIONS : V.9-19

nonlocked / keylocked



P2:  safety instructions

P3:  contents

P4:  assembly instructions

P7:  application

Important safety instructions

Warning - to reduce the risk of burns, fire, electric shock or injury to persons:

1. Close supervision is necessary when this unit is used by, or near children, invalids, or disabled persons.

2. Use this unit only for its intended use as described in this manual.

     do not use attachments not recommended by the manufacturer.

3. Never drop or insert any object into any opening other then the intended use of presenting sunglasses.

Maintenance instructions - instructions for cleaning and user maintenance operations:

1. The exterior of a secure display system may only be cleaned with a non-static brush.

2. The secure display system has no user serviceable parts. All malfunctional or damaged components 

      are to be replaced by a service representative duly authorized by Frame Displays or an official top 

      vision dealer. 

Intended use

1. The indented use of the secure display system is to display eyewear frames and sunglasses.

2.  This product is for commercial use only.

Index of user manual

Safety instructions:  Alumina non + key locked



16012 Short (2x)

16008 Long (2x)

16003
(15/18x)

50660 
(1x)

16907

.3

M4x25

(2x)

16016

(2x)

92041

#2

94034

#3

6mm (stone)

4,5mm (plexi)

2mm (wood)

P2

16906

4x45

(2x)

16011

(4x)

REQUIRED TOOLS

PACKAGING CONTENT

50671 (15KEY)

50672 (18KEY)

50661 (15NL)

50662 (18NL)

95092

S6x39

(2x)

95052

M4x45

(2x)

95624

M4

(2x)

16905

M4x4

(2x)

95150

M4

(2x)



.4

2

1

15 positions: 1170 mm
18 positions: 1380 mmA 

1900mm

A 

**D

15 positions:   573 mm
18 positions:   706 mm

* - Optional 3rd wall bracket

* - Optional 3rd wall bracket

** - Advised distance

190mm

Ø2 mm

Ø4,5 mm

Ø6 mm

- for assembly on a wooden panel

- for assembly on a Plexi panel

- for assembly on a stone wall

**C 

A

A

A*

A*

A*

A*

A

A

A

A

A

A

A

B

B

C

C

C

D

95092
S6 x 35



3

4

16011 (2x)

16907 (2x)

94034 (1x)

M4x25

#3

.5

For soft walls

16011 (2x)

16906 (2x)

95052 (2x) 95624 (2x) 95150 (2x)

4x45

M4x45 M4 M4

- for assembly on a wooden panelA 

- for assembly on a Plexi panel

A 

B 

16016

(2)



5

6

16003 (15/18x)

.6

16008 (2x) or 16008 (2x)

16905 (2x)

92041 (1x)

M4x4

#2

*CLICK*



7

16905 (2x)

.7

92041 (1x)

M4x4

#2

APPLICATION


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

